
 مقدماتيرياضي كليد سوالات المپياد 

 سوالات تستي

 صحيح است. 1گزينه  -1

 صحيح است.  3گزينه -2

 صحيح است. 5گزينه  -3

 صحيح است.  2گزينه -4

 است.صحيح  4گزينه  -5

 صحيح است.  1گزينه -6

 صحيح است.  3گزينه -7

 صحيح است. 3گزينه  -8

 صحيح است. 2گزينه  -9

 صحيح است.  1گزينه -10

 صحيح است.  5گزينه -11

 صحيح است.  1گزينه -12

 صحيح است.  1گزينه -13

 صحيح است. 4گزينه  -14

 صحيح است. 4گزينه  -15

 صحيح است.  3گزينه -16

 حيح است.ص 4گزينه  -17

 صحيح است.  3گزينه -18

 صحيح است. 4گزينه  -19

 صحيح است. 1گزينه  -20

  هاي پاسخ كوتاه: پرسش

 12جواب -61

 9جواب -62

 جواب صفر-63

 5جواب -64

 20جواب -65

 9جواب -66

 28جواب -67

 2جواب -68

 13جواب -69

 6جواب -70

 


